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VI Semester B.Com. Examination, May/June 2019
COMMERCE
Paper 6.6 : Elective paper-IV : Cost Management
(CBCS) (Fresh+Repeaters) (2016-17 & onwards)
Time : 3 Hours Max. Marks : 70
Instruction : Answers should be written completely either in English or in Kannada.
e — & / SECTION - A
TN CIRPIRTUR N WH-TIAOR 20Zor. TE T-TI K 2 wosnD. 5x2=10

Answer any five sub-questions from the following. Each sub-question carries
2 marks.

1. (a) ’8:‘3&1};55063 Nesvlerc) ol Uirer{%#m& ST,

State the features of budgetary control.

(b) B, VFeTR DOWBeR ?
What is Value analysis ?

(c) OSRFPTTTR 4 ToORFTVO TJONB TINIR, BIOR.
Mention any four functional budgets.

(d) BeTeId 0 jaisa:;;d @&ﬁ@@éﬁ@m& 393,
State the benefits of ABC Costing.

(e) ﬁf:d:; D& 0TI 9
What is margin of safety ?

() =oxdh, & Bzx doued ?
What is material cost variance ?

(8) 33 Sgmox woudemd ?

What is Standard Costing ?

P.T.O.
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2yR — © / SECTION - B
FYNT CIPF)TRTIR THRT @afv{ﬁ@ﬁ WZOX. T BB 6 woBnsh. 3x6=1
Answer any three of the following. Each question carries 6 marks.
2. SODNJOD VONOTETW VTONIRVINTE, Tt WHR.

List out the limitations of budgetary control.

3. é% ﬁzém‘id @&&a@éﬂ%ﬁ&“)& 894,

State the advantages ol Standard Costing.

4, 2,00 ;'soru;o:b QTONYy 83 Oed T :
D[RoEIT T @% ORPIEF N T 20

B TR Wb @By T 12

5

W), ?%Jd ﬁz,aﬁdr‘i%ﬁo T 4,000
FOT&ROND :

(a) ©oz F[Uokd TWOWIEE

(b) xm%" WOTH CRRALTNTY DI TRNYY
(c) BRI ﬁab;?%)é WOTR CRRILEFNYY B BRNYY F[poows T8 de. 20 3WFDoIPTN
The following data rclates to a firm :
Selling Price Per unit % 20

Variable Cost Per unit % 12

Fixed expenses T 4,000
Calculate :

(a) P/V ratio

(b) BEP (in units) and in value

(c) New BEP (in units) and in value if Selling Price is reduced by 20%




TS oLPVTFI =Deew DFN

m ABC :r::m, ervnodel

I[IllfliIIII\I\HI\IIHIIIIIHHII\ s
SDESVELA fée,z;itﬁqéazq YUTOIRENA 20T FOTR VW TJWOPFAL X DI,
&oazﬁnmgﬁ WOTH Sonen &i ned 83 3YBOBOST :

X Teps Y Ioems

PTDOAT CRRILTRW 5,000 60,000
AN oNvlor:] not3nsd 20,000 1,20,000
AN :u%c"éa'“rifé 1103:'53 20 44
e 000 (CInldorats] :dc&i; 160 384
WONF T fﬁf&ﬁ%{ FYTOBOST
TOTore Fowohd 23tDeIFT & fﬁ ¥ 5,50,000
mﬁpx«‘;ﬁ Xowoh3 ﬁagﬁ@a ¥ 8,20,000
0ed) sesny JowohHs ﬁaiﬁ% % 6,18,000

FOTHBCN0.
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A Company manufactures two products X and Y using common facilities.
The following cost data for a month are presented to you :

Product X Product Y

Units Produced 5,000 60,000
Total Machine hours 20,000 1,20,000
Total number of Set-ups 20 44
Total number of Purchase Order 160 384
The annual Overheads are as under :

Volume related activity expenses % 5,50,000

Set-up related expenses T 8,20,000

Expenses relating to orders % 6,18,000

Calculate the Overheads per unit absorbed using Activity Based Costing

approach.

P.T.O.




Gs-475 B AT ERAw R

6. 3% Jpordwod JeEE A I PTTIN WeToNDT WY wotd cwedr i 15 kes
Tonp LRNY 2‘)"" B8 T20 =S 8.23. ﬁ 530323?; Q‘ w?&)émoa’ 11,000 kgs =20 ﬁ%fab
T 2,64,000 doé LTI m“r*m 1,000 wwr AT @@d.ﬂo& owetorals; ﬁ?éc‘&
NIOAT.
TOTE aS;:E»s?E,f‘Ju'iva‘ql FOTLARCWDO.
The Standard Material required to manufacture one unit of product ‘A’ is
15 kgs and the Standard Price of material per kg of material is ¥ 20. The
cost accounts records however, revealed that 11,000 kgs of materials costing

T 2,64,000 were used for manufacturing 1,000 units of Product ‘A’
Calculate material variances.

~yen — % / SECTION - C
FENT CIRJHTTTR SBATO @:ﬁiﬁ@ﬁ YBOA. T géﬁ 14 203N0. 3x14=42
Answer any three of the following. Each question carries 14 marks.

7. Roo00E I ©RY VW TIFTCN &HeNS :

IR Roetd Ry

£4 4
2017 1,20,000 8,000
2018 1,40,000 13,000
TOT&ROWD :

(a) ©oF TJoUL TOTTOER

(b) R3S 2o

(c) ¥ 1,80,000 53303-&.3% LT ood

(d) T 12,000 @ozd NYILD LeFE =Ip0oW
(e) Bexd a3 2018 TY

() wBLrE &Y LT BRENIn
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The Sales and Prolits for two years as below :

., Year Sales Profit
3 4
2017 1,20,000 3.000
2018 1,40,000 13,000

Calculate :

(a) P/V Ratio

(b) Break Even Point

(c) Profit when Sales are ¥ 1.80,000

(d) Sales required to carn a profit of ¥ 12,000

(e) Margin of Safety in 2018

(f) Variable Cost of the two years

GS-475

8. 1-4-18 dowp somACH smooRs by X 75,000, &t - ZRT 2018 U IBRD
R Sony INCL BRONE TS ) FOIRORLY FUNS VL dobI, e B3,

B mRoWS | Loehnth &R0 oeoTyned
o 4 4 4

::@‘ja 14,000 9,600 3,000 1,700
SR 15,000 9,000 3,000 1,900
AL T 16,000 9,200 3,200 2,000
e 17,000 10,000 3,600 2,200
DT 18,000 10,400 4,000 2,300
030 TSN
(a) M;J“U 300002 0@ JomY TOT GO VRUWIT.
(b) HeowwE Be. 25 FACH [PoL B, ETBTON 1 Sond WOT ©BQ

(c) BRY DI JeeoiEdnd TRS ©o3T 1 JonwW.

(d) @weod 3oR T 25,000 wea® 2018 T SRIHODY

TOIBSHOBNT.

P.T.O.
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A manufacturing Company is expecting to have ¥ 75,000 Cash in hand on
1-4-18 and it requested vou to prepare a Cash budget for three months
April to June 2018. The following information is supplied to you :

Months Sales |Purchases| Wages | Overheads
3 3 x 4
February 14,000 9,600 3,000 1,700
March 15,000 9,000 3,000 1,900
April 16,000 9,200 3,200 2,000
May 17,000 10,000 3,600 2,200
June 18,000 10,400 4,000 2,300

Other Information :
(a) Period of Credit allowed by suppliers is two months.

(b) 25% of Sales are for Cash and the period of Credit allowed to Customers
is one month.

(c) Delay in payment of Wages and Overheads is one month.

(d) Income tax ¥ 25,000 is to be paid in June 2018.

9. 60 TONYY IVNCINT o FOXT TOW IO DTONK B F9IOBOSH

T@wre ESELEN
. 0T 3RO 0T 3RO
3R0NY Moss, T2 notdr 8RONY Mol T3 rowdr
4 4
ﬁa"e,jéd FOCNF T 75 60 70 70
tﬁs—ﬁsvém' FOSNF T 45 40 30 50
3‘135%5503 FOLNET 60 30 80 20

3033 62 TTNYY JNFTYODRROBR.
FORLAWD

(a) BoWFT FY IIZoX

(b) BoNFT WU a&aw
(c) TOINFT wgé ek

(d) TORFE IO R.IOX




| T g SR
The information regarding composition and the weekly wage rates of labour
force engaged on a job scheduled to be completed in 60 weeks are as
follows :

Standard Actual
Types of Labour Weekly Wage Weekly Wage
No. of Workers | rate per hour | No. of Workers | rate per hour
4 4
Skilled 75 60 70 70
Semi-skilled 45 40 30 50
Unskilled 60 30 80 20

The work completed in 62 weeks.
Calculate :

(a) Labour cost variance

(b) Labour rate variance

(c) Labour efficiency variance

-

(d) Labour mix variance

10. SA OGS oL BRBLBNHS ey WP IPOF TOTIe B IYIOBOST :

LOTINT LOTINTR

g Honms SRR 2 wos R

ﬁowoda?‘d TORRED

4 4

I, DB 3,20,000|stesne ﬁogﬁé 800
ohog :@q}ﬁﬁ 3,00,000 m@ﬁﬁﬁ%ﬂ ﬁoa&a 500
NRFLIDRF 1,95,000[n@F ©m notdnsd 3,000
TREOTVE VEOF O 1,70,000 mmgﬁ:m 230935 850
oLoZNW 4,25,000{c®08ne v 25,000

P.T.O.
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BOTAOIN LoD WRHODNY 20T FoWS 3,000 wonnsvy X’ Twogs clewvpleEimiliotale]
ToHNIY 323 X 1,20,000 308 800 Dude ¥2,30,000. 10cireNIow wsunmtsdny
LAWT B8 8YBo@OST :

TRIONNY BTETNW 20
003 T 25
ATFZE NOWNRW 600
‘-ﬂ@i&egﬁﬁ%ﬂ RO, 30
0003, MTodeen T 2,000

B3 BOWE RRTHOW WRYRE DT, 2d8 BRBL GOTOSRENTOVT P, W0E
TORP, FoLHLBCND msﬂi FeDTeIZ U3 DWF JPOSHOR T3 I0BT TTRTE
FomOHOT SR, FOBLRW.

)

The budgeted Overhead and Cost Driver Volumes of SA Ltd. are as follows :

Budgeted Budgeted
Cost Pool Overhead Cost Driver Volume
£4 4
Material Procurement 3,20,000|No. of Orders 800
Machine Set-up 3,00,000|No. of Set-ups 500
Maintenance 1,95,000| Maintenance hours 3,000
Quality Control 1,70,000|No. of inspections 850
Machinery 4.25,000|No. of machine hours 25,000

The Company has produced a batch of 3,000 components of X' Its Material
Cost was ¥ 1,20,000 and Labour Cost was ¥ 2,30,000. The Usage of activities
of this batch are as follows :

Material Orders 20
Set-up of Machines 25
Maintenance hours 600
No. of inspections 30
Machine hours 2,000

Calculate the Cost Driver rates that are used for computing the appropriate
amount of Overhead to this batch and ascertain the cost of the batch of the

component using the activity based costing.
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11.

(a)

& FYTor WRdSoD fﬁ@“dd & 70%, 80% I WB) 90% oDOg, ROTTF Y
mf\,o:?zv DBENTD TonRw me@oaﬂzﬁ ITNRI, womw wBIeBeOT "’@ o] &f\e‘:’
no&3n 6033;&1650030

A ofp () 3e. 80 TOEOFE Y,
WETRTE SN T
ﬁdEQ’i g 12,000
mn'g:b (Stores) :’x:az W& NN 4,000

o8 BT He méagﬂva

c’,)t:bﬁ:z‘ F)‘i (30% }\éd) 20,000
0Bed BB ITFBR (60% 20) 2,000
20 [3ned

) (X

ADBY 11,000
N 3,000
SB[ 10,000
2230, SELOITD 62,000

PO BIRBUIE Ned T nodneh 1,24,000 riotdnsd
& NS LWONYOT FoRLAONO :

(i) =ozon, 532.,1 ﬁéaaaﬁ

(ii) =N T FTHR

(iii) ToEdN, W¥E TN

TN DO TR 12,000 0 rieh

TOINCDL DOH 23 % 36,000

WO FUIE WTRTIN OBIOWDT IANY &F Twmwroe 12 oRRREF N

TORNOD dF T[T TG oRILFN X 10

TREN0D ©03Rd TOTI 5,000 cohwederish

S YVIVT 320 chwREFnwo
P.T.O.
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(a) Prepare a flexible budget for Overhead expenses on the basis of the
following data and determine the Overhead rates at 70%, 80% and 90%
Plant Capacity.

Particulars At 80% Capacity
Variable Overheads 4
Indirect Labour 12,000
Stores including Spares 4,000

Semi-Variable Overheads

Power (30% Fixed) 20,000

Repairs and Maintenance (60% Fixed) 2,000

Fixed Overheads

Depreciation 11,000
Insurance 3,000
Salaries 10,000
Total Overheads _m
Estimated Direct Labour Hours 1,24,000 hrs.
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(b)

From the following particulars calculate :

(i) Material Cost Variance

(11) Material Price Variance

(i1i) Material Usage Variance

Quantity of Material Purchased 12,000 Units
Value of Material Purchased ¥ 36,000
Standard quantity of matenal

Required per unit of finished Output 12 units

Standard Price of Material % 10 Per unit
Closing Stock of Material 5,000 units
Finished Output during the year 320 units
-00o0-
]




